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One of the following in incorrect with regard to the principles
of development

1. Development can be predicted

2. Development is same in all stages

3. There are individual differences in development
4. Development is a continuous process
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The stage for development of secondary sexual characteristics
in men & women

Later child
Puberty
Pre Adulthood
Later Adolescence
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The term ‘Scaffolding’ was used by

1. Piaget
2. Kohlberg
3. Vygotsky

4. Nom Chomsky
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The first step in “observational learning” according to

Bandura is

1. Retention

2. Attention

3. Performance
4. Reinforcement
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One of the following is characteristic of Adolescence stage

1.
2.
3.
4.

Lack of Emotional instability
Developing Number Sense
Hero worship

Development of Intelligence is slow
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When thinking about marriage unexpectedly we can recall the
stage decoration, relatives etc... This is

1 Convergent thinking

2 Divergent thinking

3. Direct thinking

4. Associative thinking
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According to Peter Sandiford the intellectual abilities that
determines personality is

1. Memory

2. Thinking

3. Intelligence
4. Creativity
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Sarala has good cycling experience, this helped her to drive a
motor bike easily. This is because of

1.
2.
3.
4.

Positive transfer
Negative transfer
Zero transfer

Bilateral transfer

25¥ 286 &5 £0S° 500D S0 &od. & Irerd PES
SEHS0S® Be 93538550 EDRBTRDE0E. BIE 880

1.

Ll

BTS00
mmé& 288
%5"?65 2808
B8 2289

The test that administered to the illiterate persons is

1.
2.
3.
4.

Army General classification test
Bhatia intelligence test
Weschler intelligence Scale for children

Weschler Adult intelligence test
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10.

11.

The following method is also called as ‘Clinical method’
1.
2.
3.
4.

Case study method
Experimental method
Cross sectional approach

Longitudinal approach
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The following one belongs to psychomotor domain

1.
2.
3.
4.

Naturalization
Receiving
Responding

Evaluation
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13.

The following concept is formed in children below 3 years age
group

1. Colour concept

2. Space concept

3. Shape concept

4. Time concept
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Seeing a shadow and feeling it as a ghost is
1. [usion

2. Hypomania

3. Hallucination

4. Perinoia
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15.

Remembering Mendel laws by conducting experiments is this
type of memory

1.
2.
3.
4.

Long term memory
Logical memory
Active memory

Passive memory

0ES W|FOR (RIS Ao KrEy0iHs S0
IO Be TS 5B

1.

Ll

8Y 505 91\®
o0 &§ Q @e‘ié
Basresys $ )0
D&Y, OIS DD

‘The theory of Transfer of learning which gives importance to
the whole situation’ is

1.

2
3.
4

Theory of formal discipline
Theory of Identical Elements
Theory of Transposition

Theory of Generalization
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16.

17.

This is not related to social learning theory

1.
2.
3.
4.

Learning through imitation
Learning through observation
Learning through experience

Learning by modeling
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Correct statement with regards to ‘learning’

1.

2.
3.
4

Learning is static
Learning is goal directed
There are no individual differences in learning

Learning is a temporary change
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18.

19.

The type of learning curve occurs when the number of trails
increases the performance in terms of wrong responses
decreases

1.
2.
3.
4.

Positively accelerated
Negatively accelerated
Typical

‘S’ type
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“Along with attaining of physical and mental maturity children
get maturity in their expressions also” is stated by

1.
2.
3.
4.

McClelland
Mecavre
Jersild

Crow & Crow
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20.

21.

Learning to avoid punishment is

1.
2.
3.
4,
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Achievement motivation
Creative motivation
Intrinsic motivation

Extrinsic motivation
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Turner syndrome

1.
2.
3.

4

Environmental factor
Loco motor factor
Physical factor

Genetic factor

eacg)g 2OIE R DO

1.

Ll

D838 °850
INONEelNe)
J°DE B0
&5351.36?_35 3580



22.

23.

24.

Meaning of the file format ‘.txt’
‘xt’ 2’.353"6&&’5_ ©go

1.
2.
3.
4.

According to ‘NEP — 2020° Educational levels are

Place text file

text map file

text XML file
Place text XML file

‘NEP — 2020 ($5°50 Dar§ Jrasen

1
2.
3.
4

5+43+4+3
3+5+3+4
5+43+3+4
5+44+3+3

International Child Right Protection day

1.
2.
3.
4.

November 14
November 20
November 9

November 11
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26.

b

The section that provides “Free and Compulsory Education’
as per RTE-2009 is

1. Section 02
2. Section 03
3. Section 06
4. Section 01
RTE-2009 (35750 ‘&S )oe ISFEH” 35, 50)0B DES

L 5902
2. E903
3. 59 06
4. ES01

Hypoglycemia can lead to this disability
1. Learning disability

2. Mental disability

3. Hearing disability

4. Mobility disability
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27.

28.

Chronological age of Ravi is 10 years and mental age is
12 years. What is his [.Q?
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1
2.
3.
4

100
120
140
160

Through ‘MOOC’s

1.

ii.

1.
2.
3.
4.

More people can study at the same time
Online courses are available for free
only ‘1’ is true

only ‘i1’ is true

1, ii are false

both i and ii are true

‘MOOC’s’ oo

1.

ii.

1.
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29.

30.

TaRL stands for

TaRL e

1 Technology Aided Rural in Languages
2. Teachers and Rural People in Laboratory
3. Teaching at Right Level

4 Training at Rural Level

The Author of the book “The Process of Education”

1.
2.

Bruner
Vygotsky
Thorndike
Piaget

“The Process of Education” (X0& 850005
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61.

62.

63.

64.

Identify the grammatically correct sentence.

1. This is most unique dress.

2 This is the unique dress.

3. This is the more unique dress.
4 This is very unique dress.

Identify the correct verb form for the sentence:

The girls waiting for you.
1. is

2 was

3. be

4 are

Identify the term for someone who studies insects:
1. Entomologist

2 Ornithologist
3. Biologist

4 Geologist

Identify the modal verb used to show ability:
1. will

2 might
3. should
4 could



65.

66.

67.

68.

Choose the correctly capitalized name of a specific place:

1. london

2. London

3. LONDON
4 LonDon

The following detail is NOT usually included in the early life
section of a biographical sketch:

1. family background

2 education

3. major accomplishments
4

formative experiences

Choose the sentence that is NOT an example of the present
tense:

1. She runs every morning

2 He will be travelling next week.
3. I am eating lunch.
4

They have been studying for two hours.

By the time we arrived, they (eat) dinner.
Choose the correct verb form for the past perfect tense:
l. eat

2 ate

3. have eaten

4

had eaten



69.

70.

71.

72.

Please close the door.
Choose the type of sentence
1. Interrogative

2 Declarative

3. Exclamatory
4

Imperative

The meeting was cancelled due to the storm.

Choose the correct transformation of the simple sentence into
a complex sentence.

1. The meeting was cancelled, and the storm was severe.
2 The storm caused the meeting to be cancelled.

3. The meeting was cancelled because there was a storm.
4 The meeting was cancelled but the storm was not

SEvere.

Choose the correct term synonymous with a main clause
1. Compound clause

2 Independent clause

3. Dependent clause
4

Subordinate clause

She loves to travel. , she has visited over 20 countries.
Choose the option that fits the blank.

1. Consequently

2 Although

3. For example
4

However
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75.

Choose the correct sequence of the words in which they occur

in a dictionary.

1.

ii.

iii.

b=

floor

fled
family
found

1, 1ii, 1i, iv
iv, 1, iii, il
iii, 1, 1, iv

i, 1, 1v, iii

Choose the correct spelling of the word.

1.

2
3.
4

Choose the example where the indefinite article is used to

ridiculous
rediculous
ridecules

rideculous

denote a class:

1.

2.
3.
4

A rose is a beautiful flower.
Birds of a feather flock together
They were of a size

Our shirts are of a size.
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77.

78.

79.

He bought his friend

him to the party.

Choose the correct preposition that fits the blank.

1.

2.
3.
4

along with
apart form
by means of

by way of

Seven had been quite upset about Mr. Nath’s gaunt
appearance.

Choose the synonym that means “upset”.

1.

2.
3.
4

Einstein saw in her an ally against the philistines — those
people in his family and at the university with whom he was

happy
angry
distressed

calm

constantly at odds.

Choose the antonym of the word “constantly”

1.

2.
3.
4

steady
inconsistent
persistent

continuous

The following is the indirect form of:
He said, “The horse died at night.”

1.

2.
3.
4

He said that the horse has died at night.
He said that the horse dies at night”

He said that the horse was died at night.
He said that the horse had died at night.



80.

81.

82.

He managed to all his fears and doubts and gave a stellar
performance.

Choose the correct phrasal verb that fits the blank.

1.

2.
3.
4

get away with
hold out
get over

look forward to

Mohan had a three-hour journey yesterday.

Choose the meaning of the underlined phrase:

1.

2.
3.
4

(13

a journey that started at 3 o' clock
a journey that started three hours ago
a journey that takes three hours.

a journey that starts after every three hours

I’m not sure if [ want to go.

Choose the interjection that best fits the blank.

1.

2.
3.
4

Yay
Ouch
Wow
Um
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Read the following passage carefully.

India is a linguistic mosaic with over 1,600 languages spoken
across the country. Hindi, the most widely spoken language,
serves as a lingua franca, while regional languages like Tamil,
Bengali, and Marathi reflect local heritage. Multilingualism is
a hallmark of Indian society, highlighting its rich cultural
diversity and the importance of preserving linguistic traditions.

Hindi serves as a in India.

Choose the option that fits the blank.

1. Regional language
2 Foreign language
3. Lingua franca

4 Ancient script

Read the following passage carefully.

India is a linguistic mosaic with over 1,600 languages spoken
across the country. Hindi, the most widely spoken language,
serves as a lingua franca, while regional languages like Tamil,
Bengali, and Marathi reflect local heritage. Multilingualism is
a hallmark of Indian society, highlighting its rich cultural
diversity and the importance of preserving linguistic traditions.

Identify the regional languages mentioned in the passage:
1. Tamil, Urdu, Punjabi

2 Tamil, Bengali, Marathi

3. Bengali, Kannada, Telugu
4

Marathi, Punjabi, Assamese

Identify the skill that is primarily speech and involves
expressing feelings and obtaining information

1. Listening
2 Writing
3. Reading
4 Speaking



86.

87.

88.

&9.

Choose the best option that fits the blank. Writing involves
producing sentences in a specific order, linking them in certain
ways, and it is called

1. a productive skill
2 a cognitive skill

3. a receptive skill
4

a passive skill

Choose the best option that fits the blank.

Dr. West’s Method prioritises developing skills as a
foundation for active work in speaking and writing.

1. listening
2 speaking
3. reading
4

writing

Choose the best option that fits the blank.

Micro-teaching minimizes the complexities of
classroom teaching.

1. actual

2 hypothetical
3. simplified
4

theoretical

Identify a key challenge in English language teaching in India.

1. Plentiful qualified teachers

2 Excellent infrastructure

3. Promoting mother tongue education
4 Strong political support for English



Choose the best option that fits the blank.

The aspect of English deals with speech,
sounds, pronunciation and spelling.
1. Phonetic

2 Semantic
3. Graphic
4

Structural
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92.

93.

Sum of exterior angles of a convex Hexagon

2.5 D0grs8 ANASD erirgEere Ingo

1. 540°
2. 360°
3. 720°
4, 180°
10 5 2
The value of M
92 x5°x4°
29 % 3% x 257
s OO 3
3
5
2. 2
3
3. 3
4
4. 2
4

Cost of dozen Gel pens is 180 and cost of 8 ball pens is I56.
The ratio of cost of a Gel pen to the cost of a ball pen is

28 %2350 BS DIYO Y 180 5805 8 TS Yo &8 I56.
28 BS DY $8 HBA0 2.8 &S DS S G

1 7:15
2 15:7
3. 25:7
4 7:25
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96.

The length and breadth of a rectangle are 2m + 3 and 3m — 4
respectively. Then area of rectangle is

2.5 BY ISR FEY Iseojen SHHF 2m + 3 5850 3m - 4
200 HYIHYR JTe50

1. 6m* —m—12

2 6m* +m+12
3. 6m* —m+12
4 6m*+m—12

Number of integers between — 2801 and — 1567 is
—2801 S58ain 1567 Jo65§ Ko eGRoonge S0

1 1234
2. 1233
3. 1324
4 1344

Two parallel lines are cut by a transversal, identify the
possible pair of interior angles on the same side of the
transversal

DO DSI0SE VPO 2.8 @65@@ POGOTDHE.
es ®6§[z§ap§3 2.8 DS &0 3"6.55;53?{3 28 23¢5 9058
e K080:3508.

l. 40°, 50°
2. 30°, 60°
3. 135°, 45°
4. 140°, 50°



97.

98.

A circle is divided into twelve equal sectors. Out of which two
sectors marked red, six sectors marked blue and four sectors
marked green. The probability of getting green sector on
spinning wheel is

2.8 S0 12 HITS DKW LoSE0R. woHS’ 2 DT
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ISR BRYTYE SWBB 26 Fod SN

L
6
. L
2
3.0 L
3
4. 1

1 1 . . .
If — and — are in inverse proportion then x and y are in
X Y

1 Direct proportion

2 Inverse proportion

3. Not in any proportion

4 Some times in direct and sometime in inverse

proportion depending on the context

1 58050 L e 96%5m53 308" doB x 85 y e
X Y

L oS SrHIS0S” SoeTon

2. ISSTHFS0S” &oeTean

3. D edsosStEr o)

4. 2o5TYR) o 25) 30 0NHE SrrSos S,

289 8 IS TSI S0S ST &otron.



99.

100.

101.

(99.6)> —(0.4)° =

1. 0.992
2. 9.92
3. 992
4 9920

Sum of the reciprocals of numbers % and % is

% Sblolerbd % QOPEO YY), S7© F0HO

11
15
11
2
17
6
17
5

1.

The circumference of a circular disc of radius 2.1cm is (in cm)
2.1 0.0 F§Z0 SOAS ST H080 ooy 908
(20.20.08%

1 1.32
2. 132
3. 0.132
4 13.2



102.

103.

104.

A shirt was bought for 240 and sold at ¥200. The loss
percentage is

32408 $5HR%0 DS 2.8 rS°s°Zr 32008 ea;ﬁo&m&o&.
900N (65%-3%50

1. 16g
3
2. 16l
3

20

4. 25

The internal measures of a cuboidal room are 11m x 4m x 3m.
Then the volume of the room is (in m®)

QY o5 K8 %O Tocsen 112 x 42 x 3% eows
&3 K8 05 985780 (9.2, ©8°)

1. 134
2. 143
3. 123
4. 132

The mode of the data 10, 7,9, 8, 8, 7, 11 is
&8s20¥0 10, 7, 9, 8, 8, 7, 11 &%), arrS0dEIn

1 7
2 8
3. 7.5
4 7,8



105. Keerthana travelled for 3hrs to reach Kakinada and then she
travelled for 145 minutes to return home. Total time of travel
1S

1. 4hr 45min
2. 3hr 25min
3. Shr 25min
4. Shr 45min

855 8ard BHer® 3 Konew (HOSTe3oN08. S8R 308
BB 145 Jnew (HATR0D08 Ioto (PASTE0NS DHAHo

1. 4x0. 459.
2. 3K0. 253.
3. 5K0. 259.
4. 5x0. 452.

106. »n’ =1331 then n is

7’ =1331 @00S 1 Jens
1 11
2 13
3. 17
4 21

107. Expanded form 18080037 is
18080037 Sopg Boo%), 28es 820

Lo (1x107)+(8x10° )+ (8x10* )+ (3x10° )+ (7x10)
(7x10)
(7)

(1x107)+(8x10° )+ (810 )+ (3x10)+(7)

2. (1x10°)+(8x107 )+ (8x10* )+ (3x10° )+
3. (1x10°)+(8x107)+(8x10° )+ (3x10)+
4 )



108.

109.

Arjun’s present age is three times his son’s present age. Ten
years ago, he was five times his son’s age. Then present age of
Arjun’s son is (in years)

S (PR SOD) VS FTEDH (PRNS SAR0YS [eEIT,
10 205070 ($S0 @S SAD) FEHH SA)H 5 Tey
@00 OGRS FEDDH (P9 S (Soned’)

l. 60
2. 50
3. 20
4. 10

The marked price of an article is ¥800. Shopkeeper gives a
discount of 10% on marked price and still makes a profit of
20%. The cost price of the article is (in Rs.)

2.8 559 (5O I0 T00. CoSermrsncd (HELS I
10% 5050 3R)T2ES 20% orgfo FodS e TP
BSRENHE §) 3o (8. o)

1. 576
2. 600
3. 720
4. 560



110. Ananth sells 15L 25ml milk to a tea stall. Tea staller uses
7 L 300ml milk to make tea. Then the milk left in the can is

1. 8L 275ml
2. 7L 725ml
3. 8L 325ml
4. 7L 325ml

@S50S 2.8 8 SD 158, 25 Ww.do Frev wmvyorw. & FESD
358 & Saswe® 79. 300 2.0 e NEEAY, S%SE° 1AOS
Jee

1. 89 2752.9

2. 78 7252.9
3. 89 3252.9
4. 78 3252.9

111. Number of possible 4-digit numbers formed by
the digits 2, 4, 8, 1 using each digit only one time

2, 4, 8, 1 @0308" (Hd ©033 500 w8 I8 (e
DITTROY (IR 4 05O JOPLLO I)?

1 24
2. 18
3. 12
4 6

12, {(x+2y)2_8xy}<(x+2y)=
x=2y
1. (x+2y)
2 (x—2y)
3. x> —4y°
4 x> +4y°



113. Two adjacent angles of a parallelogram have equal measures,
then the angles are

2.8 DITo8Y S esdy) Sered SSrTHS e Seren

l. 90°, 90°
2. 45°, 45°
3. 45°, 90°
4. 50°, 50°

114. If AB, BC and CA are the lengths of the sides of triangle ABC
then

(®ebzzo ABC §°) ghere Soden AB, BC 508050
CA @003

1. AB +BC > AC
2. AC+ AB <BC
3. AB -BC>AC
4. AB+BC+CA=0



115. One of the following is not the property of Deductive

approach

1. It saves the time and labour of the teacher and the
student

2. This is most suitable method for primary level of
teaching

3. It improves the memory power in students

There is chance to practice, repeat, related activities in
this method

08 S° XIS &0 By, K60 SO

L 30 erorgesoo, oo STery), [Fos e Buod.

2. (O Fow FTESH 30 SAS HES

3. 30 I§Red epns¥dd HoFodinod

4. ©grgR0, B3YN0, ¥HWOE TTHIEITOH Ha HEAS”
©33°F0 60O

116. “Making students estimating their daily life situations,
developing their imaginary skulls”. This state comes under

1. Utilitarian value
2. Cultural value
3. Disciplinary value

4. Aesthetic value

"y S Jes A8 b@ﬁwem 90T ITRAIEO,
éatssbsﬁo%"se)c‘éo eaéDSSQ)Q DEHEIOT S0 DANEO” 9O

L RErES Jeos
@obzyge% S
$5085e> o0

L

§%?’°e§&§ DS



117.  Which one of the following is a specification?

1. To demonstrate the properties of a quadrilateral
2. To explain the derivation of formula for the area of a
triangle.

3. To prove that (a+b)’ = a® +2ab+b?

4. The pupil remembers the formula for the area of a
rectangle

800 IS DB D[RS
1 DETYN OFETOR (DEB)O
2. Bz JTrog Aol eI 588 IFEIEW

3. (a+b)2 =a’ +2ab+ b* 9 JBEFH00E

4. BYISIE 3Teg @) IoY hd BT

118. Anand, a 6™ class student “wrote the problem in his own
words for better understanding the problem”. This belongs to

1. Restatement method
2. Analytic method
3. Method of Analogy

4. Method of Dependence

3508 &3 2.8 65 SSKD g, eﬁsésoseaés R3¢0
$HB0E ByRonT eago DS SHrser ¢85 Joes
$5r08° orESE0 @938

L OS(ENES 950
QIR DS
™ (o]
3"653*3"@ DEH
@

e N

e35°0°® ZJCQS@



119.

120.

The recommendation, “Student’s learning in the school should
associate with the real life” is made by

“SErod® ARG WPFOSO FEFO 20508 Be50
(Des B2¢80) S° 50EDE &0d” @ Srelet) BHSE

1.

2
3.
4

NCF - 2005
RTE - 2009
APSCF - 2011
NEP - 2020

Important items in the ‘Mathematics kit’ are

d.

c.

Solid rods
Napier tables
Tangram
Fractions frame

Magic squares

3B DAE'S® &oad (PSS (A

a.

b.

el A

DTS Shew
IvasE vejen
(0
Do H|go
57298 56y
a,b,c

b, c,d

a,b,e

a,b,d



121. The largest magnitude among the following is

1. 100Imm
2. 101 cm
3. 1.1 m

4. 0.001 km

808 TAE° 98 E HOITe0
1. 1001 0.2

2. 101 2o0.2.
3. 1.1 .
4. 0.001 &.2.

122. A device which works on the principle of electromagnetism is

Electric heater
Electric bulb

1.
2.
3. Electric bell
4. Electric stove

DS WD) 0B OB0 P LTTIG JITD HOLVO
L 2gS el

2. 3365055 2352)
3. 3@55 Koed
4. ;’365355 iﬁ°oa>§



123.  The unit of loudness of sound is
l. Hertz(Hz)
2. Decible(dB)
3. Calorie (cal)
4. Cubic centimeter(cc)
B BSSH (P50

1. 5 (Hz)
2. &2BS(dB)
3. 88 (cal)

4, §5°5§)§ 20.2(cc)

124. The fuel that can be used as an alternate for petrol and diesel
in automobiles

1. Liquid Nitrogen
2. Alcohol

3. CNG

4. Biogas

FrTos® S, cabon Pergsmabor SEEhS
[0LS0

L (853 sS
2. eaozrzrsg
3. 2.98.28

4. aao?mmagg



125.

126.

Study these statements given by two students and choose the
correct option

Harsha: Nitrogen gets fixed through the action of lighting.
Varsha: Rhizobium bacterium involves in fixation of nitrogen.
1. Both are wrong

2. Both are correct
3. Harsha correct , Varsha incorrect
4, Harsha incorrect, Varsha correct

3880 ATgRe0 FINS B3 (SELIOD DO JS DA)SRY)
dowHsod.

T DWPO S ISB THS BHIHSH0.

5% DEDADO e ergdasr S(@ed LS Bod.

o

1. 3EB> Sy
2. R 2.0y
3. T8 2P, G SJY
4. TG SDY, IG DY

Identify the Omnivores among the following

a) rat b) wolf c) hen d) bear
1. a,bandc
2. b,cand d
3. a,candd
4. a,bandd

808 TAS° &HAITIIHOD Kr80308.
a) ¥ b) SGew )88 d) denXr230e0

1. a, b 08w ¢
2. b, ¢ <08a3» d
3. a, c 00w d
4, a, b SHdasw d



127. The pathogen for the disease ‘citrus canker’ is
1. Bacteria
2 Virus
3. Fungi
4 Protozoa

"ALT 57088” T5Q wis0
L erS8asr
e

]|

2 B
3.  8doso
4. @SS

128. Anaerobic respiration does not occur in

1. Yeasts

2. Human muscles

3. Bacteria

4. Germinating seeds

QO30 %326@053 TSSO

1. BaQen
e
2. SIS Bokoren
3.  w@rSociren
4. IS JSIen



129. The hormone that controls metamorphosis in frog is

130.

1.
2.
3.
4.

Insulin
Growth hormone
Adrenalin

Thyroxine

59)5° 87D AZcH® AaHoBoF FE°)S

1.

N

3308

KIS :7855&5
@@5@5
Rl

The Swedish environmentalist who created awareness among
people on climate changes and addressed United Nations
climate change conference in 2018 was

1.

2.
3.
4.

Vangari Mathai
Greta Thunberg

David Brower

Rachel Carson

TESTe ST (PROH OIS $9)00, 20188
DE§Omeg DDWAS” FEITE STW) P BVOR0DT AESDH
DOBS HogSEeIDS

1.

e N

SoK8sr8
e SSb
a8 &°s8
EESEON



131. A potter bakes the dried pots in a

1. Stove
2. Oven
3. Grill
4. Kiln

$3%038 0ES HOGOZ 5S° SE N

1. 5038
2. 83
3. @S

4. 5OV

132. Dancers use these to express feelings and emotions

1. Mudras
2. Emojis
3. Pictures
4. Words

DB ST T SEE0HODH IS EIETARLD

1 SoogSen
2. J3den
3. Q(E°en
4, DT



133.

134.

The dynasty that conquered Gana rajyas was

l. Maurya

2. Shunga

3. Kanva

4. Gupta

fatac) mzsgeéo ZBOVOWS T°BWS0F0
1. ;53"65

2. oK

3. 5ed

4. 0%

This is known as ‘Bird’s Continent’
1 South America
2 Australia

3. North America
4. Antarctica

D8 POEO” @ BAY DLOJLD.

!—.\

égm [OReles
@@@Oﬁr
&HT 905

oW

eaoér@zre?)st’



135.

136.

Identify the incorrect statement regarding the Constituent
Assembly of India.

1.
2.
3.

292 members were elected from British Provinces
93 members were nominated from Princely States

28 members were from scheduled castes among
members of the Constituent Assembly

The total members of Constituent Assembly of India
was 389.

WO ToeRgOl HPK H0220H0W BOS) WOFR) K050k,

1.
2.

DES (Ao H0& 292 508 BHebgen IYSATHD.

éosé% éoéga"e) 5209 93 008 vagen
D) 30‘53235;5&3.

BIBS CoEsoR H3 K>2;535e>e56 28 5508 ?xsrageg
508 IoHIIED

aOS Toegol gl Jngo Do oy - 389

The book, “Stripurushtulna” was written by

1.
2.
3.
4.

({1

1.

L

Pandita Ramabai

Tarabai Shinde

Begum Rokeya Sakhawat Hussain
Savitribhai Phule

(Q DHRHTY” &3 YITR) (FRST.

$0685 B3PI

GPOLIP 00 NO%

B0 58S PSS TV
A Qeron YOS



137.

138.

Identify the correct statements related to Deccan plateau

a.
b.

C.
d.

Deccan plateau is of volcanic origin

The larger part of Rayalaseema comes under Deccan
plateau region.

The Lava plateaus are rich in Alluvial soil

The Deccan plateau is a Lava plateau.

SE.S DTGNS H$020H0D VIS @oTOS KGoB0sk.

a.

b.

o

b=

B5S DBHPD o) HKES SrerdE BodIO
TAHOODER Y &Ko S8 HBEIDE ToAIY
T DBFTEVO 2,08 Jvod [$2Y

BH,S DB ST HBZ

a,b,c
a,c,d
a,b,d
a,b,c,d

“Real rights are a result of the performance of duty” is said by

1. Mahatma Gandhi

2. B.R. Ambedkar

3 Jawaharlal Nehru

4. Babu Rajendra Prasad

"0 e SYI 0OBS T e HoEo0”.
9 Bingmdo

1. STy o8

2. D.esb woBE) b

3.  axsberd I

4. eee OPBO| SRS



139.  This Industry does not come under “Sunrise Industries”

1. Wellness

2 Hospitality

3. Iron and steel

4. Knowledge

e DO wDHIN oS H0FDHO (VSBS 30E(HS)
8o ored

1. 83'65?(5607(0
2. eﬂe‘Bc‘;SscioKo
3. JOIN - &)
4. gepdssoKo

140. Akbar divided his Empire in the following pattern

1. Paraganas — Sarkars — Subas
2. Sarkars — Subas — Paraganas
3. Subas — Paraganas — Sarkars
4. Subas — Sarkars — Paraganas

©5)5 S5 F(Iregd) Be ($0d o JesRomh.

1. DBRETQ - DO Lo - Doz
2. QO 000 - [0eT°e) - JBRET°
3. QTR0 - DBRET°Q - JT°) Lo
4. QTe0- ST Loen - DEKETLD



141.

142.

Amara Lingeswara Temple is located on the river bank of

1. Godavari
2. Penna
3. Krishna

4. Mahanadi
ea;ﬁodé)o’zﬁ%zséﬁzsbo BIO0H0 B S5O 2 S0

1. KRS8
2. )
3. §Q‘)i;3
4, NI

The 5™ one of Sustainable Development Goals is
Quality education
Good health and well being

Clean water and sanitation

b=

Gender equality

RRODSY oF RS’ 5358

1. TSIy

2 0D ©8°Kg0 $>Bc%0 FxHo

3. DBHETS A 58050 FBHES0
4 doX DITSS(0



143. The Halley comet appeared for the last time in this year
T S DY DSOFOMT Bs Ho5EPoS 5IBoV0B.

l. 1986
2. 1988
3. 1992
4. 1999

144. Boddu Ponna tree grows in these forests

1. Mangrove forests
2. Deciduous forests
3. Evergreen forests
4. Montane forests

T ) S50 Be 9 HOS® DEHKIS0B.
1. 3598 e

€§§JU°QJJQ SISOV

DSOS eI

L

BHS (Frod P



145.

146.

This among the following is not a characteristic of a scientist

1.

3.
4.

After describing a situation, he explains how the
situation and result came out

He changes his view of the truth when he gets sufficient
evidence to change it

Accepts any decision as final

He has a critical attitude

808 S S TS oFer0 I
> —D =0 &

1.

2.8 Zaa?ége‘iéb D380V S 9§C5°°Se§, es Za@f‘%@, D0 Jer
STYE> DIOEBYL.

26650 ‘Jaé(% éé& XN CSQ%G"Q) ;55°<‘53Q§S;5C3°§0§ SRS
S0P ODOVIYE S5 PRSI S8 K 0eTe.
B QPSR oy AgHon e9OREBIE

o Iaz:) £ —0
ZJLSJCSQJ"@"’&§ 98 5OR Goerd.

The teacher instructed the students to make a flow chart of
renewable and nonrenewable sources of energy and their uses.
It belongs to this Academic standard

1.

2.
3.
4.

Drawing skills

Information skills — projects
Experiments and field visits

Conceptual understanding

SOANFA, B SBKY ¥§ S5, T SHBTKO D
PTG ST TADI &I 50 ITFHO
RIDOTED. ZO Q ITYRSTeT A8 TOHSL08

1.

Lol

PSL:h) ?3_@5950

DITE JYeTgen - (BT D
PEBrren S0 F& H08oses
DAST SIS



147.

148.

Teaching learning material like Models, Samples, Objects,
Puppets come under this category

[S—

Graphical aids
2. 3-D aids
3 Audio aids

4. Activity aids
SHraren, SPHHe, SPen, S'ed TS0 oo

SSTHEGe JEISwen BE°S5H JoHaromn.
1L By G e
(©&AH Fearen

2
3. (#Se @I
4 §°)e3°§e§ &§ LI

This is not related to the ten Basic Educational Planning areas
identified by the New Education policy 1986.

1. Gender Equality

2. Environment protection
3. Removal of social barriers
4. Unscientific tendency

&A% STES 3)(:5"5 A0 - 1986 50003 10 3°OF §)C5°§
PETIT® Bomre®H K000 BIY

1. doi é;ﬁrc‘éeﬁoso

2. ‘JDU"ZSZSGSB :faacigea
3. FS5rRE 9358%e SToR0Y)
4. QD &3



149.

150.

“A project is a bit of real life that has been imparted into the
school” is defined by

1. Kilpatrick

2. Stevenson

3. Billard

4. Bining and Bining

“TETO TE5Be08°8 BRI AIS w0l (EF”
STURNe GAISIAIN

- A

2. ISR

3.  derd

4.  BIoK 38050 BIoK

The third step in field visit is

1. Planning

2. Preparation

3. Implementation
4. Evaluation

S8 285088° 35 F>So
1 (PeTVE

2 QTN0

3. exen Baeo

4 STPLFOEN0



